AE 2B A (] 3/4 5 7] )

s B =t At A B R (The] : 29
< A A B) o AH(A) o4k (A+B)
A 5,597,303 17,802,303 23,399,606
s 5,597,303 17,802,303 23,399,606
fFrold 2S5 IH 5,528,825 15,414,983 20,943,808
AA 2L 59,185 924,603 983,788
A FaddzF73) 1,920 15,100 17,020
AT FLdAdFX A 1,920 15,100 17,020
1. AR FFIdUnsEd 1,920 14,100 16,020
Tb A B A A 1,920 11,100 13,020
1) ZAre (4Rh 320 600 920
7hH 7]& 210—-06 | (100,000 x 17 x 38]) +(160,000¢ x 17 X 23]) = 320 300 620
2) 41w 210-01 |14,000€ X 31} X 17 X 2A]3t= 84 84
3) x=EFAd =g 210—07 [450,0009] X 2t} X 48] = 600 3,000 3,600
4) A9 210-01 |41,0009 X307 x43]= 466 4,500 4,966
5) BAREF 210-01 |49,0009 X 10% x 43] = 450 1,500 1,950
IAAJALH 3,308 3,885 7,193
AL L EE 908 685 1,593
1. XFFEA 908 685 1,593
7F 2 EA 908 685 1,593
1) AAMS 720 360 1,080
7hH 71E 210-06 40,0009 x 6™ x 33]= 480 240 720
) 3 210-06 20,0009 X 678 x 33| = 240 120 360
2) 98+ 210—01 |28,8009 X5& X 23]= 188 100 288
N YANAL A 2,400 3,200 5,600
1. ZYJAGF-FF 2,400 750 3,150
7F Z - S YPJAFFF=A 2,400 750 3,150
1) AESFGO1E) 210-06 |40,000¢) x84 x 53] = 1,600 1,600
2) AETT (23 210-06 [20,0009 X8 x53]= 800 800
22 A AT 800 1,230 2,030
22 AQIAL T 800 1,230 2,030
1. S TR YIALH T 800 470 1,270
7F Ay A AR A A 800 800
1) ZArd (59) 600 600
W — ol EZF TS — AR E — TEZAQIA G TZARQIAL 1/12




A AS R e SA 93 (9] - A Q)
Hopnm R =+ A AF el B P 1257 4 20194 714 | 20194 HF
A A A (B) o AF(A) A4k (A+B)

7hH 7= 210—06 300,000 x 1% x 23] = 600 600

2) 9= 210-01 40,0009 X 5% x 18] = 200 200

Y EX| AL A = 53,157 902,714 955,871

2FAEZA L 53,157 902,714 955,871

1. AR AFAI AN R Y 53,157 898,714 951,871

7}, WA A}l AN XY 53,157 898,714 951,871

D 715 110-04 |20,067,2409 x 247 = 8,513 473,101 481,614

2) A7 2 HE I 110-04 |10,370,75099 x12¢¥= 9,969 114,480 124,449

3) V&Y 110-04 |1,850,0009 x12¥= 240 21,960 22,200

4) Ax5w 110-04 [1,127,4509x 24 = A5,459 32,518 27,059

5) A7) 110-04 |(450,000€ x 2414 x 23]) + (150,0009 x 2374 X 13]) = 10,650 14,400 25,050

6) =+ 320-12 12,895,9109x12¢9= 2,803 31,948 34,751

7) AR 320-12 [2,078,6604x129= 2,012 22,932 24,944

8) o1 A7)Qokr 3 320-12 |176,9109%x129= 430 1,693 2,123

9) 1&R3 320-12 1965,3309x129= 934 10,650 11,584

10) AHA R3S 320-12 675,660 %x12¢= 653 7,455 8,108

11) 88+ 320—12 4,087,9709 x 24 = 22,412 75,700 98,112

5-8&585x9 2,960,243 943,885 3,904,128

fFolu &A% 1,600 6,659 8,259

folu &4 1,600 6,659 8,259

1 X924 AE IR A SN LR FLEA = 1,600 2,159 3,759

7} FA L uAFA A Y 1,600 1,155 2,755

1) ZA e (4Rh 500 630 1,180

7hH 71E 210—06 160,000 x 1§ x43]= 320 320 640

) =3 210—-06 90,0009 X 17 X 64| 7k= 180 360 540

2) o9 210-01 50,0009 X 2% x 33] = 200 100 300

3) A= (M) T 210—-01 12,0009 x 257 x 33]= 900 900

A S 1,130 48,780 49,910

EL S aseEA4d 1,130 48,780 49,910

1. B dAEH Y 1,130 48,780 49,910

7} A A EF w S A A E 2 1,130 48,780 49,910

1) EdusadzExgy 1,130 20,210 21,340
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il s BRG ed Sl A S R (The] : 29
Abel A} A (B) o 2k (A) o AH(A+B)

7D REgE 210-01 |282,5009 x 4% x 13] = 1,130 1,130

A 2S84 3} 11,100 13,258 24,358

A LG L LS 11,100 13,258 24,358

1. 9787 13Ad 11,100 13,258 24,358

7}, A A w299 11,100 13,258 24,358

1) A71e& 210-02 |1,015,00091 x 129 = 3,780 8,400 12,180

2) Abslar o= 210-02 80,0009 x129= 360 600 960

3) 4=7+2=7) 430-01 |500,0009 x 61| = 3,000 3,000

4) SAGA B 430-01 792,000 x5t)= 3,960 3,960

878 BA AL 16,266 47,662 63,928

R B B =X PR PR 4,266 39,247 43,513

1. FA ALY 4,266 39,247 43,513

7} Jthﬂ/sC]l?_/\}o 78] 4,266 38,887 43,153

1) 712 110-04 |24,307,0009 x 11 = 3,355 20,952 24,307

2) 7},74:5} 110-04 50,0009 x 129 = 120 480 600

3) WE K ZH] 110-04 70,0009 x 129 = 120 720 840

4) F214) 110-04 | (130,0009 X 1% x122) +(130,0009 ¥ 2%) = 260 1,560 1,820

5) =ulalZ 320-12 |1,484,7409 % 1% = 187 1,298 1,485

6) 77413 320-12 |1,060,7409 x 1= 129 932 1,061

7) wQlA7 ok 320-12 |77,0009 x 1% = 8 69 77

8) 1L 13 320-12 |496,0009 x 1= 63 433 496

9) AMA| ¥ & 320-12 312,720 x 1= 24 289 313

ABZ A YA 572x 9 12,000 8,415 20,415

1. 38w e 12,000 5,000 17,000

7} AN E Y W 12,000 12,000

1) Ak 210-06 |50,0009 x 27 x 753] = 7,500 7,500

2) A =H] 210-15 |10,0009 % 25% x 108]= 2,500 2,500

3) WA 2,000 2,000

7F 3D E 430-01 [500,0009] x 4th= 2,000 2,000

Ag st 2,902,459 378,615 3,281,074

A A A HAAMA 2,902,459 259,975 3,162,434

1. SRAZA A B 2,902,459 259,975 3,162,434

~ BE-REREAD — AGHAUAS — SaA S A

Ao A7
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S A= RO (] - A9

9] A - Apeiy el B = AFZ1)) 127 20199 714 20199 #HF
A | A o B s (B) AAH(A) | AAT(A+B)
7V, A2 T ZEE S A B F] 168,637 168,637
1) A AN 420-02 152,204,000 x4.71%= 7,169 7,169
2) AlAdH] 152,204 152,204
b AR 420-03 [58,750,0009 X 27 = 117,500 117,500
) SAAAA 420-03 |1,446,000¢ X 24 m'= 34,704 34,704
3) ARy 420-05 (152,204,000 X0.83%= 1,264 1,264
4) =FT Y| 8,000 8,000
7H AZE2HS 430-01 |8,000,000¢1 x 1t= 8,000 8,000
U =ZT T EFAAA 58,086 58,086
1) A Am] 420-02 46,272,000 X7.16%= 3,314 3,314
2) Al 46,272 46,272
7P EAANA X 420-03 |1,446,0009 x 32m'= 46,272 46,272
3) AR 420-05 |46,272,00091 X 1.08%= 500 500
4) =&Y 8,000 8,000
H AEEHS 430-01 |8,000,000¢ X 1t= 8,000 8,000
o E=ZAASTH T EFAANA 39,304 39,304
1) A Am] 420-02 |28,920,0009¥ X7.16%= 2,071 2,071
2) Al 28,920 28,920
7H EAAAA R 420-03 |1,446,0009 X 20m'= 28,920 28,920
3) ATt 420-05 |28,920,000¢1 X 1.08%= 313 313
4) EFTYH| 8,000 8,000
7H AZE2HS 430-01 /8,000,000 X 1tj= 8,000 8,000
gt A D 1 gk v g 2 AL 646,845 646,845
1) A 420-02 |606,000,000¢ X 3.34%= 20,241 20,241
2) Al7dv] 606,000 606,000
7b wpe-A ) 420-03 |41,200,0009 x5 = 206,000 206,000
W) ZHAA 420-03 [46,250,0009 x87/4= 370,000 370,000
o ARG g AT 420-03 30,000,000 X 1%5= 30,000 30,000
3) A5t 420-05 |606,000,000€ X0.759%= 4,604 4,604
4) =F 7Y 16,000 16,000
7hH AEE2HES 430-01 |8,000,000¢1 x 2= 16,000 16,000
Lo e e e B e e 1,989,587 1,989,587

- WE-EREAL - AFHEHUE - SwA A Lol A 4/12




GO )

539

20194 7173

20194 H=F

[eZ] X = A= (2]

AU AR S ®) SHA) | SRHALB)
1) A 620—11 |1,877,040,0009 X 4.465%= 83,810 83,810
2) A]Adn] 620-11 |1,877,038,0009 x12= 1,877,038 1,877,038
3) Z+en] 620—11 |1,877,040,0009 X 1.141%= 21,418 21,418
4) Al F-ojn] 620—11 |1,877,040,0009 X 0.39%= 7,321 7,321
18,624 149,923 168,547
28524 18,624 149,923 168,547
1. d(Wee) ZE2HEL-Y 18,624 149,923 168,547
7} Q17H] 4,434 91,423 95,857
1) AEEAE 3,849 59,284 63,133
7H 718 F 110-04 |1,988,6309 x2% x12¢9= 258 47,470 47,728
h F21n) 110-04 |140,83090 x 2 x 129 = 260 3,120 3,380
b A7 o F 110-04 |337,5009 X 2% x 23] = 150 1,200 1,350
b 2559 110—04 151,750 x1% x12€¥= 1,821 1,821
u}) WEH ZH]| 110-04 60,0009 x 14 X129 = 720 720
v 7S 110-04 |64,0009x1% x10¥= 640 640
2) AF3] EX A} 585 32,139 32,724
7hH S&Sy 110-04 |243,7509 x1%¥ x129= 285 2,640 2,925
) A7 = 110-04 [450,0009 x 17 x 23] = 300 600 900
A 5,000 17,740 22,740
1) AR 320—12 [108,112,290€ X 3.23%= 540 2,953 3,493
2) =17 Qekr 3 320-12 (3,574,350 X 7.38%= 46 218 264
3) A= 4,414 8,353 12,767
7H AEAEAL 320—12 [4,415,0009 x 29 = 3,616 5,214 8,830
) A} E-= A} 320—12 3,936,950 x 1= 798 3,139 3,937
ot v ETY 9,190 800 9,990
1) ol Ak 430-01 280,000 x127= 3,360 3,360
2) o]l ozt 430-01 |130,000¢ x 367= 4,680 4,680
3) HITE] 430-01 |900,000¢ x 1t= 900 900
4) BU¥E 430-01 |250,0009 x1t]= 250 250
9,064 80,970 90,034
s 9,064 80,970 90,034
1. AZAFZZ ALY 9,064 80,000 89,064
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A AS R e SA 93 (9] - A Q)
- R A A B T s (B) Ak (A) oJ 4H(A+B)

7h A2 GAHR A 9,064 80,000 89,064

D AZAEZZ 7388 9,064 30,000 39,064

7P B]Z9] 9,064 9,064

(1) A=A 430-01 6,900,0009 X 1dj= 6,900 6,900

(2) H= T 430—01 [954,0009 X 17}= 954 954

(3) Aol A 430-01 (280,000 x 27)= 560 560

(4) R o) oz} 430-01 [130,0009 X57]= 650 650

ISEX= Y N64,223 2,412,709 2,348,486

F212 9 A54,223 1,641,709 1,587,486

st7]|F 35482 d A54,223 1,641,709 1,587,486

1. 3ol22 5834 A47,640 1,437,087 1,389,447

7F 214 620—03 |91,517,000¢= 2,945 88,572 91,517

U 253k 620-03 |533,114,0009= 4,711 528,403 533,114

o}, =8k 5,983 359,821 365,804

1) 3¢ 620—03 289,713,000 = 6,201 283,512 289,713

2) AFd 620-10 |76,091,000¢ = ~218 76,309 76,091

g} 158w AB1,279 460,291 399,012

1) 29 620-03 190,072,000 = A60,032 250,104 190,072

2) A+ 620-10 |208,940,0009= A1,247 210,187 208,940

2. ARAFAEA L 26,583 144,622 138,039

7F x4 620—03 8,956,000 = A176 9,132 8,956

U, 25w 620-03 |53,183,0009= A289 53,472 53,183

o} =dw 137 36,407 36,544

1) 29 620-03 |29,188,000¢ = 158 29,030 29,188

2) A+ 620—10 7,356,000 = ~21 7,377 7,356

gt 15stw A6,255 45,611 39,356

1) 29 620-03 |18,652,00091= 76,131 24,783 18,652

2) A 620-10 |20,704,000¢ = ~124 20,828 20,704

ol g S ANA A10,000 470,000 460,000

ol nSEYIAA 210,000 470,000 460,000

1. ol 4x9 A10,000 470,000 460,000

7F FAEALSE T 210,000 100,000 90,000
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A AS R e SA 93 (9] - A Q)
Hopnm R =+ A AFduy el B P 127 20194 714 | 20194 HF
AFA AFA AHA (B) oA AF(A) A4k (A+B)

1) nlSg ALy A10,000 45,000 35,000

7h A& &= 210-01 20,0009 X500 x 18] = A10,000 20,000 10,000

HA/5A/A%EF 117,011 272,938 389,949

F2A g 117,011 245,758 362,769

st FA A NA 117,011 234,756 351,767

1. SR FA 7| FAA 5= 117,011 234,756 351,767

7}, A 7T A 117,011 74,113 191,124

1) 2538w 620—03 80,374,000 = 46,429 33,945 80,374

2) % 47,664 29,582 77,246

7H 79 620-03 |38,814,000¢= 24,540 14,274 38,814

H A 620—10 38,432,000 = 23,124 15,308 38,432

3) 15&w 620—03 133,504,000 = 22,918 10,586 33,504

3w A A X 4 7 23,563 5,990,901 6,014,464

TR e P ] 23,186 4,616,077 4,639,263

IR RE) P 23,186 4,616,077 4,639,263

1. e 7] L8494 23,186 4,616,077 4,639,263

7F x4 620—02 630,353,000 = A517 630,870 630,353

U, 25 620-02 |2,898,597,0009= 28,706 2,869,891 2,898,597

t} S8k 620-02 |1,110,313,0009= A5,003 1,115,316 1,110,313

AYakA] A =] & 377 1,374,824 1,375,201

LA ATFA Y 377 231,844 232,221

1. 2Yu| AR ZSEHZE 377 231,844 232,221

7}, B 7] B89 n) 620—09 232,221,000 = 377 231,844 232,221

sty WS o] AN AAA 2,433,046 4,869,947 7,302,993

St AdkA] A 64,189 0 64,189

A AAAZNE 64,189 0 64,189

1. Z3AA 64,189 0 64,189

7V H xS 64,189 64,189

1) AlAdH] 64,189 64,189

7h FuA= 420-03 164,189,000 x1%= 64,189 64,189

IS5 AF ML 2,368,857 4,869,947 7,238,804

St AL WS A A 2,368,857 4,869,947 7,238,804
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o7 (9] A 9)

A B Apelu el e R 1x5374< [201949 714 | 20194 =
A+l B T e (B) JAH(A) | AAH(A+B)
1. A A 141,589 842,322 983,911
7}, A&As 16,918 330,684 347,602
1) Aldn] 16,918 328,320 345,238
7h A % 420-03 |16,918,000¢ x 14 = 16,918 16,918
v EYa 8,700 34,235 42,935
1) AlAH] 8,700 33,850 42,550
7h sAFL 420-03 |1,740,0009 X524 = 8,700 8,700
o Y xdALE| ndE 115,971 115,971
1) A Am] 420-02 |107,868,0009 X 6.63%= 7,149 7,149
2) Al 107,868 107,868
7hH #BAtg Rl 420—03 [2,643,000€ X60% X 60m'= 95,148 95,148
L) A2 A 420-03 212,0009 X60m'= 12,720 12,720
3) Al H-oiH| 420-05 |107,868,0009 x 0.88%= 954 954
CEEAAANA 26,700 0 26,700
7}, S I A 26,700 26,700
1) A]%dn] 26,700 26,700
7h A5 (10%) 420-03 |10,090,0009 x 12 = 10,090 10,090
W) A (208) 420-03 |16,610,0009 x 12]= 16,610 16,610
3.9 - AL ANA 365,500 703,892 1,069,392
7h @ AN 365,500 703,892 1,069,392
1) AlAdH] 365,500 699,110 1,064,610
7h QA% 420-03 |7,310,0009 x 72 = 51,170 51,170
W) 2% 420-03 |7,310,00091 x 114 = 80,410 80,410
o) sAikx 420-03 |7,310,0009 x 94 = 65,790 65,790
) A% 420-03 |7,310,0009 x 42= 29,240 29,240
up) A5 420-03 |7,310,000€ x 32 = 21,930 21,930
v 2E= 420-03 |7,310,000¢1 x 1621 = 116,960 116,960
4, FAAAEAA 65,000 15,000 80,000
7}, vkAn) A 65,000 15,000 80,000
1) A]AH] 65,000 15,000 80,000
b SAE 65,000,000¢ X 12 = 65,000 65,000
5. A PANA 990,088 1,271,232 2,261,320

m

A = &R N AL - A WL EE AN




(9] : 2 9)

539

20194 7173

20194 H=F

[eZ] X _ =
AT S S ®) SHA) | SRHALB)
7t s 10,500 40,143 50,643
1) A]AdH] 10,500 39,700 50,200
7h sAF 420-03 13,500,000 x 37} 2= 10,500 10,500
L AXHEY 358,368 233,240 591,608
1) A Am] 420-02 |325,769,0009 X 8.9268%= 29,081 29,081
2) Al7dn] 325,769 233,240 559,009
7 A=A E-2Y (173m) 420-03 |45,963,0009 x 12 = 45,963 45,963
W) FAZHARAE(184m) 420-03 |46,575,0009 x 14 = 46,575 46,575
h) ZHEHASD(142m) 420-03 |38,904,0009 x 12 = 38,904 38,904
2 Y=Y ARFAA(179m) 420-03 |46,297,0009 x 12 = 46,297 46,297
vh) A= 242 (145m") 420—-03 [39,070,000€9 x 14} = 39,070 39,070
vh B2 A (189m) 420-03 |46,853,0009 X 12]= 46,853 46,853
AP TFEEHAGFXYE@2T7Im) 420-03 [62,107,0009 x 12 = 62,107 62,107
3) Al E-oH) 420-05 |325,769,000¢ x 1.08%= 3,518 3,518
o} b (A, S 3t 17,220 17,220
1) A]%dn] 17,220 17,220
7hH A=A % 420-03 |200,0009 X 10m= 1,920 1,920
W) FAS 420-03 200,0009 X 24m= 4,800 4,800
) =Ad 420-03 200,0009 X 53m= 10,500 10,500
g W27 604,000 604,000
D) Uxd-s37t 183,000 183,000
7 <=3%(3,766m) 420-01 |30,000,0009 x 12 = 30,000 30,000
W ZAZCHE,3,179m) 420-01 40,000,000 x 14 = 40,000 40,000
oh 4% (1,811mY) 420—-01 30,000,000 x 14 = 30,000 30,000
2} A% (1,647m") 420-01 37,000,000¢ x 14 = 37,000 37,000
v FAF(270%,4,153m") 420-01 |46,000,0009 x 12 = 46,000 46,000
2) WA RZAAEA 21,000 21,000
7h &2 A 1(3,174m) 420-02 |21,000,0009 x 12 = 21,000 21,000
3) WX X7 A 400,000 400,000
7h &2 A (3,174m) 420-03 |400,000,000¢ x 12 = 400,000 400,000
6. FAA N 415,335 1,585,416 2,000,751
7}, x4+ 83,720 841,881 925,601

m

A = EFAFNAAAL — StwA A w537 Al
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o7 (9] A 9)

i=] -1 = =) =
1) Aldn] 83,720 841,881 925,601
7hH =AY 1 420-03 91,0009 X920m'= 83,720 83,720
w2 35,040 167,024 202,064
1) AlAH] 35,040 167,024 202,064
7hH E=3A L 1 420-03 292,000 X 120m= 35,040 35,040
L= 10,620 91,800 102,420
1) AlAdH] 10,620 91,800 102,420
7hH EEx 420-03 |354,0009 X 30m= 10,620 10,620
gt T T st A 285,955 285,955
1) AAm] 420-02 |266,800,0009 X 6.46%= 17,235 17,235
2) Al 266,800 266,800
7hH 2327 X (250m) 420-03 |100,000,0009 x 12 = 100,000 100,000
) wiear gk 420-03 [93,000¢ x1,000m'= 93,000 93,000
th w= 420-03 292,000¢ X 150m= 43,800 43,800
) =FAEHEA 420-03 |15,000,000¢9 X 2% = 30,000 30,000
3) Al F-on] 420-05 |266,800,0004 X0.72%= 1,920 1,920
7. A7\ A AN 49,000 117,242 166,242
7F A A 31,900 31,900
1) AlAdH] 31,900 31,900
7h A% 420-03 | 1,450,0009 x 224 = 31,900 31,900
. 725 A 17,100 17,100
1) Al 17,100 17,100
7h =3Edx 420-03 [3,420,0009 x50)= 17,100 17,100
8. WAFHSA (AF)) 262,545 0 262,545
7}, vperR 2= 207,025 207,025
1) Al 207,025 207,025
7hH =ZE= 620—11 |11,830,000¢ x17.54= 207,025 207,025
U BEr 2 Z0 By A 55,520 55,520
1) Al7dn] 55,520 55,520
7hH £AEZ(Z0R) 620—11 3,470,0009 x 164 = 55,520 55,520
9. I AMNA XHH) 53,100 0 53,100
7F S 53,100 53,100

m

MAANE — BB - SFuAd w87 N4 10/12




A AS R e SA 93 (9] - A Q)
Hopr R =+ A Apeluj el == NESTE 1257 4 20194 714 | 20194 HF
A A A (B) o AH(A) o4k (A+B)
1) A]AH] 53,100 53,100
7h ARz 620—11 |354,0009 X 150m= 53,100 53,100
JA - FFaS 12,000 143,982 155,982
A u S 12,000 143,982 155,982
SAENE 12,000 82,752 94,752
EATEAIAA 12,000 82,752 94,752
1. 3F3=AFTI0 AL 12,000 15,932 27,932
7} AR A 8| E 9] 12,000 12,000
1) Z71"A7) (E3) 430-01 900,000¢ x 4t]= 3,600 3,600
2) E71AA7] () 430-01 |1,200,0009 x 2t]= 2,400 2,400
3) HAAZ A 2 7] 430-01 3,000,000 x 2th= 6,000 6,000
R ==l ] 56,478 2,243,338 2,299,816
5P Aut 51,578 1,887,322 1,938,900
sH A Bl ] A B 51,5678 1,679,216 1,730,794
A H)] %] A 8 &2 51,678 1,679,216 1,730,794
1. S8 AR 51,578 1,664,103 1,715,681
7}, oFA x| EAFOl A H] 620—01 19,080,160¢ x12%= 51,578 177,384 228,962
71 B9 # 4,900 356,016 360,916
7)1 22| 4,900 350,316 355,216
IR O B R 4,900 350,316 355,216
1. 71324 A1 2,844 164,872 167,716
7} AREE A A 2,844 8,300 11,144
1) “EE 430-01 1,300,0009 X 1dj= 1,300 1,300
2) A4 430-01 900,000 x 1t)= 900 900
3) ZUE 430-01 |250,0009 x 1t= 250 250
4) A8 AF 430-01 |394,0009 x1tj= 394 394
2. B A 7| B9 An] 2,056 110,504 112,560
7}, 3 X A 1 2,056 70,168 72,224
1) LRE-H] 416 11,600 12,016
7h Al 210—01 416,0009 X269 = 416 10,400 10,816
2) o] 1,640 41,000 42,640
7h T 220-01 |20,0009 X 26™ x 178 = 340 8,500 8,840
W - wSANE - 7Ry - VEegn] - aSALEEd 11/12




A AS R e SA 93 (9] - A Q)
EE 9] A - 1AF7 9 20194 717 | 20194 HF
E‘O =) T’E’T (o] X oJ I—Ilj—_k] A=g }1\1_7_ oJ - (e} o
T e e A s, % =1 ®) AAE(A) | oAAHA+E)
=Y 220-01 |40,000¢] x 2674 x 158 = 600 15,000 15,600
h %9 220-01 |70,0009 X 269 x 108 = 700 17,500 18,200
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